The Fastest Way of
Speaking English
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No. E3JE

make a contact
et Hetsirt

2 get in touch with him
3 HotHS E FCt

give the phone number
4 Mot E 22 20t

get the wrong number
5 H5hS wshetrt

exchange business cards
6 yot2 Ot

offer a business card
7 Yots gt

receive a business card
8 MRS E7|CF

leave a message
9 DS 7| Ct

greet the customers
10 Etdstct

meet halfway
11 A 2= o|lsiCk

carry out the contract
12 7| ekS Sict

sign the contract

Tjels

L7t ~7te?

Shall I ?

f2|l= ~ot= HMO0| 2 702,

We'd better

7t ~ot= HO| 22 2kl d2tsie.
| think she'd better

th OS0[ ~gt 4= US Aol2t MZtol 2.

I think they would be able to



No.

DAHSTHO| 2AE BHES US| 0 W2, oS Lst=0 AFEE WEE 3 =gt =
dg sfECt EHSES 5% 20= CHE XtA| 220l HiR= BHF At HAES 25t &
II-O-" NSt A Ol 2902 7|§|:|-

o —To=2 T M- OO0 1= —
I

oy 2%

A7t 20| A Hette?

Shall | make a contact with him?

fe2|= 12t ¢etet= Mol L2 AHoll2.

We'd better get in touch with him.

DG A HetHS E == ™Oo| L2 A 224 2.
| think she'd better give me the phone number.
OS0| M8 2R 228 5 U2 Het Mo,

| think they would be able to get the wrong number.
227t YehZ watshs Mo| HHZL.

We'd better exchange business cards.

A YyeE e Ente?

Shall | offer my business card?

M7t 19| FetE Bh= HO| LS 2t d2tsie.
| think she'd better receive his business card.

A Azl 50| OAA[E HE = Y2 A 22 2.
| think they would be able to leave a message.

M A4t DS Y| = HO| LIS A2t dz2telie.

| think she'd better greet the customers.
MOS0l Ete & U2 Aol Mol 2.

| think they would be able to meet halfway.
f2|7t A k= O|3lish= HO| LIS Hofl2.

We'd better carry out the contract.

A7 AofS We HO| LS At W26,

=2 2

| think she'd better sign the contract.
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BiE

2 ekZ Tt

break the contract
ZHefstot

do business

o4=stct

make a mistake

HRE ofCt

make an error

DS BB S}

visit a client

=%ol= 1242 SChotCt
deal with the complaining client
N2HS O UA| CHstCt
treat the customer gently
D2 S St

negotiate with the client
2240 S - stot

bargain with the client
L nl gl gasoy in

shake hands with the client
el X AtEHS ZCOistCt
invite a businessman

el AtetS Hoistot

entertain the business acquaintance

ZH2HE SLHCE

end the business relationship
== e

pay by the due date

3|AlS stot

return a favor

T

7t~ = =24,

He may have PP

JS0| ~}ER = =2t8.

They could have PP

JdEIt ~sHSR| = ZEte.

She might have PP

22l atgte| ~ot= A WAoL.
We would rather

25| ~ol= A =27
Would you rather ?

thatete| ~stA| eh= A Lot
I'd rather not
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07 SO, HA, Helor BHE BHES 231 may
sl ZESte =S 2Lt HEHSS S5
To| zEstol 20 Mg & Uk 282
=LA
ohy 2%

DIt ALE WSR2,
He may have broken the contract.

FelE 2tete] AHefistA| e Aol RN L.

[ -
We would rather not do business.
OS0| AR e S22,
They could have made a mistake.
DI ERE S = 222,
He might have made an error.
2= xtete| O D42 YE st 40| R 2.
We would rather visit the client.

H 2Fsh=s 1A 2 25| SU5HA| g A Lot

L

I'd rather not deal with the complaining client.
07t DHS 0 UA CHYER = RER,
He may have treated the costumer gently.
JS0| 040 HAMUER E 222,

They could have negotiated with the client.
7t D20 SHMISA = S2te.

He might have bargained with the client.
H 25| DS o] Qs A HA0 K.
I'd rather not shake hands with clients.

I el AtEhE ZOists Al Tf2?

Would you rather invite the businessman?

252 O HelH AtEE EiotA| gbe Al Ao L.
I'd rather not entertain the business acquaintance.

07t HeHE ENERE =2t

He may have ended the business relation.
Er|ds gz= A oge?

Would you rather pay by the due date?
0] A| 2| 4ASHA| b= Al Lot

I'd rather not return his favor.

rlr olo
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© AXAI Y U SE

SE AL HHE BEHES 95|10 should, used to7} ALEEl IHED 2 Z8tste =
SiECt IHHE2 58 20= CHE XtA| Z2l0|M B @& B HHES| =50 &
M3t 4 9= 2232 J|2C}
M- OO 1= —
Y B R
No. EHJZ OjE{ &L
1 Hol|lA =3= FCt 22|= o Mof ~ot= o2
give you a hand We used to
Lte| HA=ZS O|8otCt oMl ~5t= A 7SRO L.
2 .
use my connections | used to be able to
3 LIZ O|ZslCt = ~3HO{OF G102,
use me He should have PP
4 LIE A|2|stCh & ~ot2] LR/AOO A2
leave me out She shouldn't have PP
5 Fofl EAZ|CE =0 ~ofjOf StCt1 A2t
be left behind | think they should
= 4 ofl kx| Cf = GAI0| ~3fjOF ST 4 ZksR| etote .
fall into a trap I don't think you should
v HYS Z=o}Ct
let out the secret
3 oj| el T oict
pay lip service
Jo| 2AS KL}
9 -
see his true colors
10 alo| SCt
have a hard time
11 L= &lS2| sttt
give me a hard time
12 LS AA|5ta{ 10 O AACt

try to control my feelings



No.

SE HAet AHE BEHEZ 5|1 should, used to7} A2 =l T
SECE WHES 55 F0= CHE AtA| 220 A bY HASR
Nge + At 9832 7|20
st& Ol2| 27|

oy 2%

d= HoH =22 FU00F o2,

He should have given you a hand.

U 1S0| 1S90 ®ES 0|R35H0F SHCFD AlZHsHe
| think they should use their connections.
J4& LIS 0| 85tA| LUA0{0F 3102 |

She shouldn't have used me.

22l oMo 2E A|2let= 3oL,

We used to leave him out.

= 5ol §AHR|A| LA0{0F 0|2,

He shouldn't have been left behind.

= 40| 2| 2| LRHO{0F 31O

He shouldn't have fallen into a trap.

L= 050| H2ES =200 SiCtD d2tsi 2

| think they should let out the secret.
HEAI0] J0f A ol gEl S offOF STt M ZiskZ| Qfote
I don't think you should pay him lip service.
07t GAlo| 2413 2H0{0F s 2.

He should have seen your true colors.
22l o ™o oHZE A= oL,

We used to have a hard time.

ool 08 S st Al 7Hs3iol L.

| used to be able to give him a hard time.
d= 09 A3 AA|5tad 11 o4 0{0F 2.
He should have tried to control his feelings.

| Zatote g2
x3oto] 23



No.

B7L 280 A= EHEZ 5|1 should, Ithink I might S2| T E S0 &4 Z8tst= 22
S S0k WSS S5 S0 12 KHA| ZolojA BIRE BEdRo MEs| Zgsto] 28
of M3t 2 9l 28282 7|2
To=22 T M- oo 12 —

st 0j2|27]

BEYS T

= 7ttt L= ~g 2 2ot

go on a business trip I think | might

ZYEHIE ottt

get ready for the business trip
HH|E of|=stCt

estimate the expenses

ZH|E MtEotCt

calculate the expenses
ZH|E Zo|ct

cut down the expenses

28 3= of&listet

travel for 2 nights and 3 days
224 HNE Mt

write a report on the business trip
AudES sict

negotiate a contract

4 IHE LTt

take a maternity absence
FIIE Euitt

take a vacation

FER7IE Uct

take a paid vacation
AEYAZ Ff|ASICH

get rid of the stress

oto} R2|= ~sl{of & AHoj|l2.
Maybe we should

= ~E (A=)sl=toF sl 2.
He should try to
150 ~Q12| O Z|
I should see if they
JH= ~st A S0 2.
She must have PP

1o

HQISHEOF SH 2.



S7h 270 B2HE 5SS 25|12 should, Ithink I might S
2 S|ECH IHESS 53 S0 TH2 XHA| 220N BiSE
ol Mg + U 2822 J|2Lt,

5t 02| 27|

f 1o

No.

L= &2 2 74 Zofe

= 4,

| think | might go on a business trip.

4= 24 FHIE ofi2oF sl 2.

She should try to get ready for the business trip.
JUE7t HH|ZE of|ScliEtE A S22,

She must have estimated the expenses.

= BH|E AtE5te AS oli2tof ol 2.

He should try to calculate the expenses.

H 0S0| ZH|E LM =2] 2Qlslf ElOF s 2.

I should see if they cut down the expenses.

2l ofo} 28k 3= O &lislioF &0l

Maybe we should travel for 2 nights and 3 days.
Jd4HE 24 BEIME A s 2SS of2tof a2,

She should try to write a report on a business trip.
M OS0| ALY He=A| =OlsHoF2t gfLICt,

I should see if they negotiated the contract.
Jd4E SAMFIE H A S 2.

She must have taken a maternity absence.

d= 5718 EUYES Al =oEtoF sl 2.

He should try to take a vacation.

L= ReR7/E & A Z2ot2.

I think | might take a paid vacation.

f2|= ofop AEYAE slfAsHoFRt 10 2.
Maybe we should get rid of the stress.



No.

=] u] s AXIE= n
OF UH U MY, STSH B2

SlALL &S od o &
_7|§_o‘=||-o|.t _S_EJE o %E . —

= [ —_
Zeoto 280 Hag = U

work as a department manager
e = Usirt

work as a department chief
gz St

get promoted as a vice president
(HoflAl) 392 =T

give you three days

AlZtE 20}

make it on time

Otz arct

make it by the deadline
Uy S w=Ct

follow the schedule

O £t =0{Z|C}

run behind schedule

UY S StolstCt

check the schedule

US LIIC

put someone in charge
Us 2k

take charge of work

2HUS Z|Ct

take the responsibility

T

L= 0|4 ~& &~ A2,

| am now able to

Lt= Ofof ~& Aol

I will probably

o ~E SHhI5t2| Zotlole

| am not sure (to)

Y& ~stn Ao,

She'd like to

f2le ~g £ iAo,

We haven't been able to ~
O{C} A7} ~5F HR?

How come he ?

L{Z} ~5F 2| QLOtA RZH0[0] 2.
I'm sorry | didn't

CHAI2 L7} ~BHCHs QH0I7tR?
Do you mean|?

L= ~5t2] 20|12

I am here to

7t ~st A2 GHl 2.

It's no wonder he

0] ~off E o AULE2

Would you care for ~ING

Lt D7} ~5H= 0| 22 A2t
I think she'd better

HZE5H 2



YR AN 9 M, STISH HAE BHES A3
zgots 282 20k WEHSS S5 20 = CHE
Y5t =Y 8 = A= 3EHS 7IEL
=LA A
otg O|2|127| 4HAHS 1

2Hy 27

J= ojX Ao = dgt 4+~ A0 2.

He is now able to work as a department manager.
d= ez A2 & 322,

He will probably work as a department chief.

7t FAE L = SRISZ| &hlstr]| Zot4lo|2.

He is not sure to get promoted as a vice president.
L= 004 3¢S 0 AL,

I'd like to give him three days.

M7t A|IZtE 22 4 QR0

I haven't been able to make it on time.

ORI Ct SA2 OS2 SUR2| b2 HR?

How come you didn’t make it by the deadline?

Fe7t €Y S U2 0t d RAYLIC

I'm sorry we didn't follow the schedule.
J7t O ¥ 2L ==Che 2elvte?

Do you mean he runs behind schedule?

H AP Solste] 2ol

I am here to check the schedule.

LHZF 20fA 22 27|= A2 GHsla.

It's no wonder | put him in charge.

gilo| 4 HorE o+ ULR?

Would you care for taking charge of work?
L= 27t M2 2= HMO| 22 A2t Y2sle.
| think he'd better take the responsibility.

14 XpA| 20 A
WEEE



TEST _os

No.

83tA| B 29 U 21
ARMS F 0| 28}7|, HES}
Agels EHe et iH
zgeio] 270l X8 %
shg O|2|E7| AHAS 1
BEES
US Mottt

give an instruction of work
Uof| l=shZ|Ct

get used to the work
22 et

make use of an experience
AP2E otCt

make an inspection
A|R|E E7|CF

leave a message

H2E ofCt

take a memo (note)

0 2E ofCt

prepare a short memorandum
MFRE ZO0{EC}

skim through the documents
25| A=t}

examine thoroughly

0| #3258 AEslCt

go over these numbers
SIS ZAbStCt

look into the cause

2| M| E stCt

conduct a research

r
Hl
mjo I ror
\J ok 1ujn

rn

—_

|I'| e

o0 /o

1 1~14 KA 7+o|01|)\-| '6[_ oj &
= %

=21lo

ofo I>

rirm
AN

KHAl Bol0A HiFE BRHF 2t HE

Tjels

L{Z} ~o} 2| QLOtA] 7Z+0[0]| 2 (0|2t 2).
I'm sorry | didn't

Lt= Ofof ~&H0l 2.

I will probably

& ~SHAM|2.

Be sure to

LHZF 213 HA ofjof & L2 ~0f|l=
The first thing | have to do is to
A2 X a7t ~5H=R| Lote?
Do you know when he ?

A B2 W7t ~8 0| 70| 2.
That's why |

22l atgte| ~ot= 2 W0 L.
We would rather

~St A2 Lol ZRoloL.

It is my bad to

OpR|ere = 7}~ A ¢A02?
When was the last time he ?
O{RXCt 217t ~5t HZE?

How come he ?

L= ~g &H|7t U012,

| am ready to

th S0[ ~gh 4 US Z0(2t M2tel 2.
I think they would be able to



TEST _os

No.

= (n]
83tA| 24 2% Y 27
UEAN F 025, ZEQ} HHE BHAHSZS AUd(10 1~14 XHA| Z2|oA &
It 282 G20k IHHE2 58 20= CHE XA Z20|M Hj*= HEHE
Zotsto 280 M8 =+ = S8HE 7|ELL

_J'\_
e 02|27 dHAE 1

ol
of>

J

oy 2%

L= Mr. Ground?t 22 #ot2| L0t RZ0[0f 2.

I'm sorry Mr. Ground didn't give an instruction of the work.
Chris= ¥0f A5oiA2 = S22,

Chris will probably get used to the work.

L A2 MM,

Be sure to make use of your experience.

U2t 71 B offoF & U2 At ot= Ho2.

The first thing she has to do is making an inspection.

A2 AX| OEHTL AR E Y2 E=R| OfM2?

=2 O ML

Do you know when she left a message?

JejM 27t HE2E 5 Hoj2.

That's why he took a memo (note).

J4E 2l2te| f2E & Ao,

She would rather prepare a short memorandum.
MEE F0{E2| 2 A2 19| &40}

It is his bad not to skim through the documents.
op|ate = EAlo| 25| AESH A Ao2?
When was the last time you examined thoroughly?
ORXCt &= O] 2|52 HESIA| &2 AHo=2?
How come she didn’t go over these numbers?
J4E YAS RAFE ZH|7} =02,

She is ready to look into the cause.

ST MRE S 4 U2 Aot d2tsie.

| think she would be able to conduct a research.



« 10ZHA| 2tY 29F U =8
ATN = 2HSHZ, LY, ALH LD BEE BHES 3|1 1~14 XpA| ZOJ0IA 3l
I HS0 2 Zests 282 20t EHE2 58 20= CHE XA Z2(0|M Hj*&= H
sisot ™| Zaistol ER0| 8 4 AUt 8L J|2C
- st O2|EY| AHAS 1
No. E3E e
1 E-EE 22telCt Liof A 225t A ~E0[|02.
observe the trend Alll need is to
2 =AE & o Zotct A2 ~a = A E Holl2.
work out the problem You will be able to
3 7|AE &-SotCt OEH| ~ot=A| LA 2o & &+ LtR?
work the machine Can you show me ?
4 S NE 217t BHek ~5tH O 2| ?
start working What if he ?
5 US Yx|Ct L= ~g 24 Zote.
ruin the work I think | might
6 US Ofx|Ct L= ~& o Folof2.
finish up the work I'm going to
v US EEstCt 275]2{ ~ot= 2| ofuf?
share the work Would you rather ?
3 o{2H= SiCh ~stH 1 Yatshe AHoll2.
give you permission I am just calling to
9 7|2l Btoisict A= ~sh 2[A0] 210,
disapprove the plan You deserve to
10 D2 EE A|QtotCt ot} f2|= ~ol{of & AHoj|l2.
propose a project Maybe we should
11 =S Mt G2 ~ofiof £ 2.
make a plan You have to
12 HMA=E O2|ct oA G422~ A Zote?
make a blueprint When do you expect to ?
T2 M EZ SiC
13 L 2AE S ofC]

work on a project



No.

2 a
102HA] 2} 2% & S8
URAY 5 SRHZ, YRS, AL PAE EUSS
ST 8 Zoots £RS G2 HEHSS S58 30
ot MTe| Talelol 20| M8 4 Y= 2823 7|20}
SEA A
shs O|2|1E7| 2 HE 1

oy 2%

J0l TR A EAUSE B Lol

2L T —cr—= o2

All she needs is to observe the trend.

= ZAE FoZS & UM E Ao,
He will be able to work out the problem.
O{EH 2| AE 2tSalof st=A| A L & + JLIR?
Can you show me how to work the machine?
22/0AH 2t H LE Aldtsle A#0[02.
All we need is to start working.
Mr. Jeffrey?7t QtoF A5 QZICHH O{#{Z|?
What if Mr. Jeffrey ruins the work?
M7t 22 0t 2 Zote.
I think | might finish up the work.
Jds2 Y4S 2 0o/,
They are going to share the work.
atete] J0)A s 2Hs olF= 2| o e?
Would you rather give him permission?
d= A&S Bioistad 1 M3tst HojlL.
He is (just) calling to disapprove the plan.
d= Z2dEE Aete 21A0| 0L,
He deserves to propose a project.
OOt 412 AHElS MI0F & Hoj2.
Maybe you should make a plan.
Rl HAEE 0240F o2
We have to make a blueprint.
QA A2 E2HEE o A Zote?
When do you expect to work on a project?

miels
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=

>t

~14 XtA| 220 A ol

FAl Z2lof M Hif = #



No.

carry out the plan

A =lo] 2 ol <A stCt
work out the plan
oetS MYsict

explain the situation
Z23ystct

make up my mind

oj| Sstct
concentrate on work
74 ChA| HZkei 2 Ct
give it a second thought
OtO|C|0{Z Y Ztaf{LHCt
come up with an idea
Z2 4Zo| =t

hit on a good idea
ol2|M e M2zo| Me=C}
have such a foolish idea
s 2=t

have (got) no idea

4|7t 2ot 2= O|ahstCk
catch what you said
2tds| Ottt
understand completely
HE St}

make an excuse

Ird
n
I
>+
>
oy
10
=2
X
£
HJo
rr

T

L= O|A| ~& = U2,

| am now able to

oMl ~5t= A 7SRO L.

| used to be able to

=2 OF&l ~5f2| QIto|2.
They haven't PP yet

LHZF 2+ A ofjoF & L2 ~0f2.
The first thing | have to do is to
LIojAH 228t A ~&0[0|2.

Alll need is to

L7t~ HRIF QALIR?

Dol needto ?

JE7t ~3HER & Z2te.

She might have PP

L= ~ollAM £ 7|

I am so glad to

0t ~ots AS YUE 4 elo.
| can't believe he

O{RXCt 217t ~5t HZE?

How come he ?

~stH 1 Yatste 7Hol2.

I am just calling to

A . W7t ~5t7| i 20]9| 2.
It's all because |

LiofA ~& e FA|ZOR27?
Would you let me know ?



S o8| 1 1~14 AHA| Zo|0fA 23l
L2 KA Zolof A BiS= &

rot rot
ot
=2
I
[

No.

P e
0

2l 0|3 AES AT 4 o2,

We are now able to carry out the plan.

Li= oMol A =lE & O|lL| A 5he Al 7Hs3ioi L.

| used to be able to work out the plan.

O= &S B4R AU,

He hasn't explained the situation yet.

227t 71 A offof & 22 2EE U2l= oL,
The first thing we have to do is making up our mind.
Jof|A 22t A Ao ASot= AE0[0f|2.

All he need:s is to concentrate on work.

7t 074 CHA| d2teliE Zert JALte?

Does he need to give it a second thought?
Thomas?} OtO|C|0{E M2t SR = S22,

Thomas might have come up with an idea.

Davide & 20| {22tM 22 7|ts] 2.

David is so glad to hit on a good idea.

Li= 50| O3 of2|Md2 M2tS 7122 = AS2 22 4 glofe.
| can't believe they have such a foolish idea.

O{#Ct Bob2 ¥l 221 Q= HRE?

How come Bob has (got) no idea?

4= g4lo] 2st 242 OlalishE e Matst Hoj2.
She is (just) calling to catch what you said.

2 . a7t etds| Ofs3i 7| mi&0[of 2.

It's all because he understood completely.

of 7 0 HYS =] A|AH L A2
Would you let me know why she made such an excuse?



No.

AEAMHM F AR 20 A= H
St= 22 Si2Ct IEES &5
oto] 280 M8 = A= 38H
=SEA AL
otg D|2| 27| HHHE 1
2T
LA 2|C}
fool around

20| gict

be clumsy

230| ACE

be sensible

&l0ts| ~&otrt

handle something well
US Zstct

do a good job

Z|ME Clotlt

do my best

L &etS strt

do my role

A2 0202 0|20t
lay it aside

o|lgo|ct

be enthusiastic

sE= 22tt
increase the efficiency of the work
US| 5ES olE|C}
decrease the efficiency of the work
Hof|A =10 7|x|Ct
put you in trouble
AEY AT} AAO|CE

be stressed out

Qolo
=

Ir 1o
Ot

[

r|ru s

15|
Al Zolof M B = m =

mjo ro rot
N {of N
<1

ar

—_

rn

~14 XAl 22| 0 Af S f

-‘- |:|0|'

| Ij &S
oot

_L>|L|_—|

=T

T

0t ~ot= AE YUE 5 ol
| can't believe he

L= ~22| & =212,

| may

LIof| A ~& 2ef FA|ZH=2?
Would you let me know ?

th OS0[ ~gt 4= US Aol2t MZtol 2.
I think they would be able to
L= ~& 4+ 02,

| can

Li= SHAlO| ~8HCHD BHAISHS

| am sure you have PP

27t ~5t2| Lol = Hoj2?
How long has it been since he ?
A2 W7t ~stChe Eelvte?
Do you mean|?

&= 0pr| ~ot AHH B

It seems as if he 2}

Lt= Ofof ~&H0l 2.

I will probably

L7t~ S ELtR?

Canl?

7t of ~ot=2A| G2 ota?
Do you know why he ?

S
_A-_'

P

P
o o



UPAEH 5 HF 250 2HE HASS S| 10 1~14 XA 7*C’Ioﬂlﬂ
St= 22 si2Ch IHES &5% F0|= CHE KA 220 b
5to] 280 M = Us SEHZ 7|ELCL
stS D[2| 27| HHEES 1

M 22

L= 250| L&A 2(1 Qo= ASE UE 5+ eloe.
| can't believe they are foollng around.

d= 230| g = 228,

He may be clumsy.

GAE LA 71 LHO0| /=R Y] FAIA0L?
Would you let me know who is sensible?

M 0t Bts| 5 £ US Ao|2t HZal.
I think he would be able to handle it well.
ds2S LS 2 £+ oe.

They can do a good job.

GLI0| 2[4 S CISHA| PUACIL LS 4= gloje

| can't believe you didn’t do your best.

M 07t 00| dghsS JUCtn SHhlshe.

I am sure he has done his role.

7t 2AE OG22 2 0| & A| YOt 2| 5o(e?

How long has it been since he laid it aside?

JerryZt 2|22 0|2| QiCt= 2RUTER2?

Do you mean Jerry isn't enthusiastic?

2o Opz| Yo SES 22 HHAH BolQ.

It seems as if we mcreased the efficiency of the work.
de= 29 s8& O EZR L =2,

He W|II probably decrease the efficiency of the work.

Li7t 20A £=208 M e E|Lte?
Can | put him in trouble?

off 27t AE AT HO0I=A] Yal2 Lota?

oLt 2

Do you know why he is stressed out?
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No.

YDA = YT 244 A M
el =otste =M 2 it I
"] xeretol 2RO M8
=SEA AL
otg D|2| 27| HHHE 1

BiE

S Iof| WEz|C

hit a slump

HIEHS 2|}

hit bottom

MZ2& LS A|2FstCt
start on a new project
X SEE{ CHA| A|2totCt
start from the beginning
S0l okt

quit in the middle
HHE zlAsict (PAT L2 50
cancel the whole thing
=S Malsict
carry(put) out the policy
(Lh) s 7|2t
develop my ability
7|3 ¥t

get a chance

7|81 E =&[ct

miss a chance

QOAZ) Liol|AH 7|t
leave it to me

AA2) sz £t
leave it blank

SAIS Z|oftCt

take a break

£2 o3| 1~14 XtA| Zol0fA 28l YEHED
O CH2 KHA| ZOM B ESE

T

A 8 07t ~5t7| iZ0[0 2.
That's all because he

27t ~st2| LotLt & Aol
How long has it been since he

o CHEF ~5H0 HRAS 20|02,

| just wanted to

A2 ~afiof £ 2.

You have to

EAl2 ~5 oy U7t

Are you going to

Lt 1S0| ~QIZ| OFLZ| &Rl EHOF s 2.
I should see if they

57t ~ot= HO| 22 et 426l
| think she'd better

L= A= & ~st{H 2t0[0) 2.

I am just about to

off G4l ~oftLt?

What makes you

~E W7t OfEH &ote?

How am | supposed to know

off 7t ~ot=2| H S22

| wonder why he

~QIZ] OfM|27?

Do you know (that)



No.

AP S A2 2 U MOo| PAE BHESL 0|1 1~14
S| ZESHe £S G20 YHES SE3 S0 CI2 XA
To| xeketo] 2R H2 + U= S8EE 7|20
SEA A
shs O|2|1E7| 2 HE 1

oy 2%y

L7t 220 42 A2 07t S Io| HH=2] o2
That's all because he hits a slump.

J240| HIEHS ZIZ| HOtLE SHLER?

How long has it been since it hit bottom?

J= OE A2 L3 AlRtst AAS #£0[02.

He just wanted to start on a new project.

OS2 XS5E CTHA| A|2Hal{of a2

They have to start from the beginning.

S0l 1%t=F H7tR?

Are you going to quit in the middle?

S 227t HAHE AT 4 U=2A] &0l 2loF sl 2.
You should see if we can cancel the whole thing.
M 40| YA S Alelist= TMOo| =S A2t MZhofe.
| think you'd better carry(put) out the policy.
A2 G4l sHE 2202t s 2.

You have to develop your ability.

212 8 7|51 E #ees oo

| am (just) about to get a chance.

A2 el O 7|38 =2l AHoll?

What makes you miss the chance?

EAF WS LIO|AH 2| LH7F O{E A Lot
How am | supposed to know whether my boss leave it to me?
Lol GAI0| OAHE SECRE F=2| IF6H2.

| wonder why you leave it blank.

gilo| FAIS 2[o{of SICt= AS YE A2

Do you know that you should take a break?

KEAL 22 0f
ENEREE

=1 T =
ool IjfEHS=D
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= BAER A



